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Frk245 AR E BBREREN
485 () 0 ERE (E)
Avg | RmER | RER g | mes | RES
CNGV + CHGVH - CHGTHE 85 FI LIS OB S

500L3k i
LPG 710,995 1,068 710, 995 1,068
PG 69,073 44 69, 073 44
LG 29,794 0 29, 794 0
AG 3,000 0 3,000 0
LT 1,820 1,090 1,820 1,090
LNGV 0 0 0 0
nL 0 0
(LDH 0 0
Y 116 0 116 0
EREE T S D gla7o8] 20202 [ 814798 22020 -
HMEERAL &%) 81.3 237.8
sEmast | giz.000 | 817,000 __
HEERAL (%) 81.5

500L 2L E 1000Lk
[Lpa 0 0 0 0
|Pa 309 0 309 0
LG 172 689 172 689
LT 0 0 0 0
DL 0 0
LDH 0 0
o 0 0 0 0
fEmEgast | __dosif esof T Losl] ________es] ]
EERAL () 69.7 91.7
ruﬁﬁzeg e s T LI
SETERALE (B 76.9

1000LEL E
LPG 1,999 165 29 1,999 165 29
PG 0 0 0 0 0 0
LG 452 178 0 452 178 0
LT 44 14 5 44 14 5
DL 0 0
LDH 0 0
| ZD{th 0 0 0 0 0 0
fEsEgaRt |24 53] al 2,495 1l 34]
SAERAL () 528. 6 58.8 188.9
iE%ast [ 286 ______________ [ 2,886
MEERAL (0 263. 1
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L ZlL k- o S I pAL] | E of _________20 __________Z K] I 0
HNEERALE %) 0.0 25.0 0.0
oevegE | L I .
XBIEEAE %) 2,441.7
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EAESaE 2 of i 20 ] 0
XRERAL (h) 0.0 0.0 0.0
CHaVEEBAEE e 0
HBIERAL &) 0.0

CHGTHZ 2 F DIt & &
EnEsaR | o o ¢ of < o ) 0
HNETERA L (h) 0.0 0.0 0.0
cHeTH@E% &t Lt L o
HATEFERAL (%) 0.0
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